

BID OPENING: OCTOBER 21, 2021 PRICE OPENING: NOVEMBER 12, 2021 AGENT: JENNIFER SCHOFIELD

		PRICE SCHEDULE	508.0	C, Inc.	DAF Concrete		SoCo Contracting		A&S Paving		Multiplex LLC		Autaco Development			
ITEM NO.	PAY ITEM INDEX NO.	COMMODITY OR SERVICE	ESTIMATED NUMBER OF	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	000-0002	ADA RAMPS (SIDEWALK)	400	EA	\$1,100.00	\$440,000.00	\$500.00	\$200,000.00	\$1,250.00	\$500,000.00	\$2,000.00	\$800,000.00	\$3,125.00	\$1,250,000.00	\$1,200.00	\$480,000.00
2	163-0232	TEMPORARY GRASSING	10	AC	\$900.00	\$9,000.00	600	\$6,000.00	\$5,000.00	\$50,000.00	\$1,200.00	\$12,000.00	\$1,062.50	\$10,625.00	\$950.00	\$9,500.00
3	163-0240	MULCH	50	TN	\$250.00	\$12,500.00	50	\$2,500.00	\$250.00	\$12,500.00	\$150.00	\$7,500.00	\$625.00	\$31,250.00	\$350.00	\$17,500.00
4	163-0300	CONSTRUCTION EXIT	10	EA	\$500.00	\$5,000.00	500	\$5,000.00	\$1,200.00	\$12,000.00	\$1,500.00	\$15,000.00	\$3,125.00	\$31,250.00	\$850.00	\$8,500.00
5	163-0529	CONSTRUCT AND REMOVE TEMPORARY SEDIMENT BARRIER OR BALED STRAW EROSION CHECK	200	LF	\$10.00	\$2,000.00	3	\$600.00	\$40.00	\$8,000.00	\$15.00	\$3,000.00	\$6.25	\$1,250.00	\$10.00	\$2,000.00
6	163-0550	CONSTRUCT AND REMOVE INLET SEDIMENT TRAP	60	EA	\$300.00	\$18,000.00	75	\$4,500.00	\$1,250.00	\$75,000.00	\$100.00	\$6,000.00	\$312.50	\$18,750.00	\$200.00	\$12,000.00
7	165-0030	MAINTENANCE OF TEMPORARY SILT FENCE, TP C	1,500	LF	\$0.50	\$750.00	1	\$1,500.00	\$5.00	\$7,500.00	\$1.00	\$1,500.00	\$2.50	\$3,750.00	\$5.00	\$7,500.00
8	165-0071	MAINTENANCE OF SEDIMENT BARRIER - BALED STRAW	1,000	LF	\$2.00	\$2,000.00	1	\$1,000.00	\$5.00	\$5,000.00	\$1.00	\$1,000.00	\$2.50	\$2,500.00	\$2.00	\$2,000.00
9	165-0101	MAINTENANCE OF CONSTRUCTION EXIT	10	EA	\$100.00	\$1,000.00	100	\$1,000.00	\$400.00	\$4,000.00	\$250.00	\$2,500.00	\$1,000.00	\$10,000.00	\$400.00	\$4,000.00
10	171-0030	TEMPORARY SILT FENCE TYPE C	3,200	LG	\$5.00	\$16,000.00	2	\$6,400.00	\$20.00	\$64,000.00	\$4.00	\$12,800.00	\$3.75	\$12,000.00	\$5.00	\$16,000.00
11	310-1101	GRADED AGGREGATE BASE COURSE, INCLUDE MATERIAL.	250	TN	\$50.00	\$12,500.00	35	\$8,750.00	\$55.00	\$13,750.00	\$75.00	\$18,750.00	\$56.25	\$14,062.50	\$80.00	\$20,000.00
12	318-3000	AGGREGATE SURFACE COURSE (UPON DIRECTION)	250	TN	\$50.00	\$12,500.00	35	\$8,750.00	\$60.00	\$15,000.00	\$75.00	\$18,750.00	\$50.00	\$12,500.00	\$80.00	\$20,000.00
13	402-1812	RECYCLED ASPHALT CONCRETE LEVEL, INCLUDE BITUM/H LIME	305	TN	\$180.00	\$54,900.00	120	\$36,600.00	\$120.00	\$36,600.00	\$150.00	\$45,750.00	\$187.50	\$57,187.50	\$170.00	\$51,850.00
14	402-3121	RECYCLED ASPHALT CONCRETE 25 MM SUPERPAVE, GP1 OR 2, INCLUDE BITUM MATERIAL & H LIME	300	TN	\$165.00	\$49,500.00	120	\$36,000.00	\$145.00	\$43,500.00	\$160.00	\$48,000.00	\$275.00	\$82,500.00	\$160.00	\$48,000.00
15	402-3130	RECYCLED ASPHALT CONCRETE 12.5 MM	1,500	TN	\$175.00	\$262,500.00	120	\$180,000.00	\$152.00	\$228,000.00	\$200.00	\$300,000.00	\$569.00	\$853,500.00	\$150.00	\$225,000.00
16	402-3190	RECYCLED ASPHALT CONCRETE 19 MM	500	TN	\$165.00	\$82,500.00	110	\$55,000.00	\$150.00	\$75,000.00	\$170.00	\$85,000.00	\$413.00	\$206,500.00	\$160.00	\$80,000.00
17	413-1000	BITUM TACK COAT	740	GL	\$8.00	\$5,920.00	5	\$3,700.00	\$20.00	\$14,800.00	\$25.00	\$18,500.00	\$11.25	\$8,325.00	\$6.00	\$4,440.00
18	432-5010	MILL ASPHALT CONCRETE PAVEMENT, VARIABLE DEPTH	2,700	SY	\$8.00	\$21,600.00	10	\$27,000.00	\$13.50	\$36,450.00	\$30.00	\$81,000.00	\$6.00	\$16,200.00	\$12.00	\$32,400.00
19	441-0014	DRIVEWAY CONCRETE, 4 IN TK	300	SY	\$50.00	\$15,000.00	40	\$12,000.00	\$80.00	\$24,000.00	\$55.00	\$16,500.00	\$56.25	\$16,875.00	\$58.00	\$17,400.00
20	441-0016	DRIVEWAY CONCRETE, 6 IN TK	1,100	SY	\$65.00	\$71,500.00	42	\$46,200.00	\$105.00	\$115,500.00	\$75.00	\$82,500.00	\$81.25	\$89,375.00	\$69.00	\$75,900.00
21	441-0018	DRIVEWAY CONCRETE, 8 INCH TK	1,100	SY	\$80.00	\$88,000.00	42	\$46,200.00	\$133.50	\$146,850.00	\$85.00	\$93,500.00	\$106.25	\$116,875.00	\$72.00	\$79,200.00
22	441-0104	CONCRETE SIDEWALK, 4 INCHES	15,000	SY	\$50.00	\$750,000.00	40	\$600,000.00	\$70.50	\$1,057,500.00	\$45.00	\$675,000.00	\$56.25	\$843,750.00	\$51.00	\$765,000.00
23	441-0108	CONCRETE SIDEWALK, 8 INCHES	500	SY	\$80.00	\$40,000.00	42	\$21,000.00	\$130.00	\$65,000.00	\$55.00	\$27,500.00	\$106.25	\$53,125.00	\$72.00	\$36,000.00
24	441-0600	CONCRETE HEAD WALLS	50	СҮ	\$250.00	\$12,500.00	400	\$20,000.00	\$965.00	\$48,250.00	\$950.00	\$47,500.00	\$1,250.00	\$62,500.00	\$350.00	\$17,500.00
25	441-4030	CONCRETE VALLEY GUTTER, 8 INCHES	700	SY	\$80.00	\$56,000.00	42	\$29,400.00	\$80.00	\$56,000.00	\$70.00	\$49,000.00	\$106.25	\$74,375.00	\$65.00	\$45,500.00



BID OPENING: OCTOBER 21, 2021 PRICE OPENING: NOVEMBER 12, 2021 AGENT: JENNIFER SCHOFIELD

		PRICE SCHEDULE	SD&C, Inc. DAF Concrete					ontracting	A&S Paving		Multiplex LLC		Autaco Development			
ITEM NO.	PAY ITEM INDEX NO.	COMMODITY OR SERVICE	ESTIMATED NUMBER OF	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
26	441-4050	CONCRETE VALLEY GUTTER WITH CURB, 8 INCHES	50	SY	\$25.00	\$1,250.00	45	\$2,250.00	\$87.00	\$4,350.00	\$80.00	\$4,000.00	\$137.50	\$6,875.00	\$75.00	\$3,750.00
27	441-5002	CONCRETE HEADER CURB, 6 INCHES, TYPE 2	1,100	LF	\$20.00	\$22,000.00	14	\$15,400.00	\$30.50	\$33,550.00	\$30.00	\$33,000.00	\$37.50	\$41,250.00	\$24.00	\$26,400.00
28	441-6216	CONCRETE CURB & GUTTER, 8 INCHES X 30 INCHES, TYPE 2	3,000	LF	\$25.00	\$75,000.00	20	\$60,000.00	\$35.00	\$105,000.00	\$35.00	\$105,000.00	\$37.50	\$112,500.00	\$27.00	\$81,000.00
29	444-1000	SAW JOINTS IN EXISTING PAVEMENT PCC	500	LF	\$10.00	\$5,000.00	1	\$500.00	\$6.50	\$3,250.00	\$2.00	\$1,000.00	\$7.50	\$3,750.00	\$20.00	\$10,000.00
30	500-9999	CLASS B CONCRETE FOR BASE OR PAVEMENT WIDENING	200	CY	\$200.00	\$40,000.00	200	\$40,000.00	\$330.00	\$66,000.00	\$250.00	\$50,000.00	\$437.50	\$87,500.00	\$230.00	\$46,000.00
31	515-2020	GALVANIZED STEEL PIPE HANDRAIL	1,500	LF	\$10.00	\$15,000.00	50	\$75,000.00	\$180.00	\$270,000.00	\$90.00	\$135,000.00	\$106.25	\$159,375.00	\$35.00	\$52,500.00
32	550-1180	STORM DRAIN PIPE, 18 INCHES, H 1-10, GA STD 1030 REINFORCED CONCRETE PIPE	1,200	LF	\$60.00	\$72,000.00	50	\$60,000.00	\$47.00	\$56,400.00	\$40.00	\$48,000.00	\$75.00	\$90,000.00	\$60.00	\$72,000.00
33	550-1240	STORM DRAIN PIPE, 24 INCHES, H 1-10, GA STD 1030 REINFORCED CONCRETE PIPE	1,000	LF	\$70.00	\$70,000.00	55	\$55,000.00	\$53.00	\$53,000.00	\$50.00	\$50,000.00	\$250.00	\$250,000.00	\$70.00	\$70,000.00
34	550-4218	FLARED END SECTION 18 INCHES, STORM DRAIN	40	EA	\$850.00	\$34,000.00	650	\$26,000.00	\$800.00	\$32,000.00	\$700.00	\$28,000.00	\$1,875.00	\$75,000.00	\$1,600.00	\$64,000.00
35	550-4224	FLARED END SECTION 24 INCHES, STORM DRAIN	40	EA	\$1,100.00	\$44,000.00	800	\$32,000.00	\$935.00	\$37,400.00	\$700.00	\$28,000.00	\$2,500.00	\$100,000.00	\$1,800.00	\$72,000.00
36	610-0340	REMOVE CONCRETE CURB, ALL SIZES	500	LF	\$8.00	\$4,000.00	5	\$2,500.00	\$14.00	\$7,000.00	\$75.00	\$37,500.00	\$25.00	\$12,500.00	\$10.00	\$5,000.00
37	610-0355	REMOVE CURB AND GUTTER, ALL SIZES	300	LF	\$9.00	\$2,700.00	5	\$1,500.00	\$18.00	\$5,400.00	\$75.00	\$22,500.00	\$25.00	\$7,500.00	\$10.00	\$3,000.00
38	610-1880	REMOVE STORM DRAIN PIPE	300	LF	\$15.00	\$4,500.00	5	\$1,500.00	\$20.00	\$6,000.00	\$100.00	\$30,000.00	\$43.75	\$13,125.00	\$20.00	\$6,000.00
39	610-2586	REMOVE ASPHALT PAVEMENT INCL BASE	2,000	SY	\$35.00	\$70,000.00	5	\$10,000.00	\$46.50	\$93,000.00	\$30.00	\$60,000.00	\$33.75	\$67,500.00	\$20.00	\$40,000.00
40	610-2815	REMOVE CONCRETE SIDEWALK /PAVEMENT	2,500	SY	\$15.00	\$37,500.00	5	\$12,500.00	\$24.00	\$60,000.00	\$20.00	\$50,000.00	\$33.75	\$84,375.00	\$20.00	\$50,000.00
41	610-5715	REMOVE CATCH BASIN, DROP INLET, JUNCTION BOX	20	EA	\$350.00	\$7,000.00	200	\$4,000.00	\$1,100.00	\$22,000.00	\$500.00	\$10,000.00	\$1,250.00	\$25,000.00	\$900.00	\$18,000.00
42	610-9001	REMOVE SIGN. SIGNS COVERED BY THIS ITEM ARE REGULATORY, WARNING, AND GUIDE SIGNS OWNED BY DEKALB COUNTY AND GDOT	50	EA	\$10.00	\$500.00	50	\$2,500.00	\$100.00	\$5,000.00	\$50.00	\$2,500.00	\$250.00	\$12,500.00	\$100.00	\$5,000.00
43	611-3000	RECONSTRUCT CATCH BASIN, GROUP 1	20	EA	\$2,500.00	\$50,000.00	1000	\$20,000.00	\$1,000.00	\$20,000.00	\$4,500.00	\$90,000.00	\$3,125.00	\$62,500.00	\$2,800.00	\$56,000.00
44	611-3010	RECONSTRUCT DROP INLET, GROUP 1	10	EA	\$500.00	\$5,000.00	1000	\$10,000.00	\$1,000.00	\$10,000.00	\$4,500.00	\$45,000.00	\$3,125.00	\$31,250.00	\$950.00	\$9,500.00
45	611-5551	RESET SIGN	50	EA	\$10.00	\$500.00	50	\$2,500.00	\$165.00	\$8,250.00	\$100.00	\$5,000.00	\$125.00	\$6,250.00	\$100.00	\$5,000.00
46	611-8000	ADJUST CATCH BASIN TO GRADE	10	EA	\$800.00	\$8,000.00	500	\$5,000.00	\$675.00	\$6,750.00	\$4,000.00	\$40,000.00	\$1,250.00	\$12,500.00	\$550.00	\$5,500.00
47	611-8040	ADJUST DROP INLET TO GRADE	10	EA	\$500.00	\$5,000.00	200	\$2,000.00	\$600.00	\$6,000.00	\$4,000.00	\$40,000.00	\$1,250.00	\$12,500.00	\$550.00	\$5,500.00
48	611-8050	ADJUST MANHOLE TO GRADE	15	EA	\$500.00	\$7,500.00	200	\$3,000.00	\$475.00	\$7,125.00	\$4,000.00	\$60,000.00	\$1,250.00	\$18,750.00	\$550.00	\$8,250.00
49	611-8100	ADJUST GRANITE CURB TO GRADE	1,000	LF	\$30.00	\$30,000.00	25	\$25,000.00	\$35.00	\$35,000.00	\$55.00	\$55,000.00	\$75.00	\$75,000.00	\$20.00	\$20,000.00
50	611-8140	ADJUST WATER VALVE BOX TO GRADE	10	EA	\$400.00	\$4,000.00	100	\$1,000.00	\$300.00	\$3,000.00	\$100.00	\$1,000.00	\$250.00	\$2,500.00	\$150.00	\$1,500.00



BID OPENING: OCTOBER 21, 2021 PRICE OPENING: NOVEMBER 12, 2021 AGENT: JENNIFER SCHOFIELD

PRICE SCHEDULE						SD&C, Inc.		DAF Concrete		SoCo Contracting		A&S Paving		Multiplex LLC		Autaco Development	
FEM NO.	PAY ITEM INDEX NO.	COMMODITY OR SERVICE	ESTIMATED NUMBER OF UNITS	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
51	636-2070	GALVANIZED STEEL POSTS, TYPE 7	1,000	LF	\$8.00	\$8,000.00	14	\$14,000.00	\$9.50	\$9,500.00	\$20.00	\$20,000.00	\$18.75	\$18,750.00	\$10.00	\$10,000.00	
52	653-1704	THERMOPLASTIC SOLID TRAFFIC STRIPE, 24 INCH, WHITE	300	LF	\$9.00	\$2,700.00	8	\$2,400.00	\$35.00	\$10,500.00	\$9.00	\$2,700.00	\$9.40	\$2,820.00	\$12.00	\$3,600.00	
53	653-1804	THERMOPLASTIC SOLID TRAFFIC STRIPE, 8 INCH, WHITE	1,300	LF	\$4.00	\$5,200.00	4	\$5,200.00	\$30.00	\$39,000.00	\$6.00	\$7,800.00	\$3.75	\$4,875.00	\$6.50	\$8,450.00	
54	668-1100	CATCH BASIN, GROUP 1	20	EA	\$3,500.00	\$70,000.00	800	\$16,000.00	\$2,450.00	\$49,000.00	\$4,500.00	\$90,000.00	\$3,750.00	\$75,000.00	\$3,900.00	\$78,000.00	
55	668-1110	CATCH BASIN, GROUP 1, ADDITIONAL DEPTH	30	LF	\$50.00	\$1,500.00	50	\$1,500.00	\$350.00	\$10,500.00	\$500.00	\$15,000.00	\$625.00	\$18,750.00	\$450.00	\$13,500.00	
56	668-2100	DROP INLET, GROUP 1	15	EA	\$2,500.00	\$37,500.00	1500	\$22,500.00	\$2,950.00	\$44,250.00	\$4,500.00	\$67,500.00	\$4,750.00	\$71,250.00	\$3,000.00	\$45,000.00	
57	668-2110	DROP INLET, GROUP 1, ADDITIONAL DEPTH	15	LF	\$50.00	\$750.00	50	\$750.00	\$350.00	\$5,250.00	\$500.00	\$7,500.00	\$625.00	\$9,375.00	\$450.00	\$6,750.00	
58	668-4300	STORM SEWER MANHOLE, TYPE 1	15	EA	\$2,500.00	\$37,500.00	1000	\$15,000.00	\$2,950.00	\$44,250.00	\$4,500.00	\$67,500.00	\$3,750.00	\$56,250.00	\$3,900.00	\$58,500.00	
59	668-4311	STORM SEWER MANHOLE, TYPE 1, ADDITIONAL DEPTH, CL 1	10	LF	\$50.00	\$500.00	100	\$1,000.00	\$350.00	\$3,500.00	\$500.00	\$5,000.00	\$625.00	\$6,250.00	\$600.00	\$6,000.00	
60	670-2002	VALVE MARKER	20	EA	\$75.00	\$1,500.00	100	\$2,000.00	\$135.00	\$2,700.00	\$300.00	\$6,000.00	\$250.00	\$5,000.00	\$150.00	\$3,000.00	
61	670-9720	RELOCATE EXISTING WATER VALVE, INCLUDING BOX	10	EA	\$100.00	\$1,000.00	500	\$5,000.00	\$1,000.00	\$10,000.00	\$5,000.00	\$50,000.00	\$1,500.00	\$15,000.00	\$1,000.00	\$10,000.00	
62	670-9730	RELOCATE EXISTING WATER METER, INCLUDING BOX	50	EA	\$500.00	\$25,000.00	500	\$25,000.00	\$1,000.00	\$50,000.00	\$500.00	\$25,000.00	\$1,500.00	\$75,000.00	\$1,000.00	\$50,000.00	
63	700-6910	PERMANENT GRASSING	4	AC	\$1,500.00	\$6,000.00	1000	\$4,000.00	\$13,500.00	\$54,000.00	\$4,500.00	\$18,000.00	\$7,812.50	\$31,250.00	\$1,950.00	\$7,800.00	
64	700-7000	AGRICULTURAL LIME	3	TN	\$10.00	\$30.00	400	\$1,200.00	\$250.00	\$750.00	\$1,200.00	\$3,600.00	\$1,250.00	\$3,750.00	\$400.00	\$1,200.00	
65	700-8000	FERTILIZER MIXED GRADE	1	TN	\$10.00	\$10.00	500	\$500.00	\$375.00	\$375.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	
66	700-8100	FERTILIZER NITROGEN CONTENT	40	LB	\$10.00	\$400.00	50	\$2,000.00	\$5.00	\$200.00	\$10.00	\$400.00	\$6.25	\$250.00	\$20.00	\$800.00	
67	700-9300	SOD	6,000	SY	\$9.00	\$54,000.00	7	\$42,000.00	\$18.00	\$108,000.00	\$15.00	\$90,000.00	\$37.50	\$225,000.00	\$21.00	\$126,000.00	
68	716-2000	EROSION CONTROL MATS, SLOPES	2,000	SY	\$2.00	\$4,000.00	2	\$4,000.00	\$6.00	\$12,000.00	\$6.00	\$12,000.00	\$1.25	\$2,500.00	\$5.00	\$10,000.00	
69	998-1000	RELOCATE MAIL BOX	50	EA	\$50.00	\$2,500.00	100	\$5,000.00	\$125.00	\$6,250.00	\$150.00	\$7,500.00	\$250.00	\$12,500.00	\$250.00	\$12,500.00	
70		WORK ALLOWANCE		LS		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00	
Total Base Bid of All Work Items Listed (1-70):					(\$3,113,710.00		\$2,197,300.00	>	\$4,329,700.00		\$4,199,550.00		\$6,084,595.00		\$3,465,090.00	
Number of Bids Received											9		-				
LSBE Participation Benchmark/GFE:						- DeKalb		- MSA	LSBE - DeKalb		20%		GFE Approved		LSBE - MSA		
		andatory LSBE Meeting (Yes/No)				/es		'es		Yes		es		Yes		les loc	
Separate	e Sealed	Price Envelope			Y	'es	Y	'es	, in the second s	Yes	Yes		Yes		Y		



BID OPENING: OCTOBER 21, 2021 PRICE OPENING: NOVEMBER 12, 2021 AGENT: JENNIFER SCHOFIELD

PRICE SCHEDULE						C, Inc.	DAF Concrete		SoCo Contracting		A&S Paving		Multiplex LLC		Autaco Development		
ITEM NO. P	AY ITEM NDEX NO.	COMMODITY OR SERVICE	ESTIMATED NUMBER OF UNITS	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
Notes/Detail Justification:																	
Recomm	end award	to the lowest, responsive and res	ponsible bidde	ers:													
SD&C, Inc., 4473 Covington Highway, Decatur, GA 30035																	
DAF Concrete, Inc., 9160 Turner Road, Jonesboro, GA 30236																	
Autaco Development, LLC, 3099 Washington Road, East Point, GA 30344																	
Knight 8	Accoriator	was determined to be non-responsi	vo for including	nricing o	utside of the se	narato coalod	onvolono as ro	nuirod									

was determined to be non-responsive for including pricing outside of the separate, sealed envelope as required. Construction 57, Inc. was determined to be non-responsible for failing to provide references indicating a minimum of five (5) years' experience as required. Sol Construction was determined to be non-responsible for failing to provide references indicating a minimun of five (5) years' experience as required.

Witness Signature: Tonsya Dawson Agent Signature: Jennifer Alchafield